= 2 F2l)
. CR(S]H) - MREAIY - BE=E =
AHH 1,147,931 200,000
OlAHH Al (LB T EHE/UBHHA) 956,343 200,000
A2 FRIEHSAS 703,600 200,000
A2 FOIEHSAA 703,600 200,000
401 AlEHIL 20| 703,600 200,000
01 Al&H| 700,000 200,000
OATE FOEHAAY 700,000 200,000
—2=12| 2= L3 AMHEUISA
625,000 *40m 25,000 25,000
—2222] =&Y 212 sZHUISAL
250,000 *100m 25,000 25,000
= A3 U2 FHISAt
100, 000-& *250m 25,000 25,000
ANz 212 == HHISA
125, 0002 *200m 25,000 25,000
dF=2 23 = HEISA
125, 0002 *200m 25,000 25,000
2= 22 =2 ZHISAL
100, 000-& *250m 25,000 25,000
HiXlgtE & 2= L& =2 HISAL
100, 0002 *250m 25,000 25,000
M&Z XU =2 ZHISA
100, 0002 *250m 25,000 25,000




